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A R =y
M OtMotL HAE E2Ed =4
& ALHFHR S ML (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 2324l 306 306 0
O SESIA &8 3,060& 1004 306
203 ¥ S =&l 1,700 1,700 0
03 AIZ=XH 2 =AY 1,700 1,700 0
O 24ge =2 1,700,000& 1,700
SAAHESEE W 2 10,409 10,409 0
SANHEYR =4 10,409 10,409 0
201 £Br2%H| 10,409 10,409 0
01 At 22l 10,409 10,409 0
O TAA=EZH MBS0
55,0003 *3&t«10cm*63l 9,900
O ZAA=2H TA7Y & M2 509
- HPRY B HAT S 550008 +33 165
- HE2(2E gy) 12,000 12 144
- SANAEEZE EHE 200,000 200
S =234l 3,222,600 860,000 2,362,600
= 1,167,000
Al 1,167,000
- 888,600
S AnEFUSJAAY 558,600 530,000 28,600
401 A& HIZ 201 8] 558,600 530,000 28,600
01 A& HI 558,600 530,000 28,600
T2 ¥ ot &l 558,600,000 558,600
CE=E 2 HERIES 330,000 330,000 0
401 AIEHI L 2 0] 330,000 330,000 0
01 A& HI 330,000 330,000 0
O T22= Y (A L) 300,000,000 300,000
O HERXESH(RAXHEE) 30,000,000 30,000
E2sX7 F=MFAE &X 2,334,000 0 2,334,000
= 1,167,000
Al 1,167,000
401 AIEHI L 20 2,334,000 0 2,334,000
= 1,167,000
Al 1,167,000
01 A& HI 2,334,000 0 2,334,000
O 23X 2=NJIAME &X
2,334,000,000& 2,334,000
= 1,167,000
Al 1,167,000
HEEtE ofd &4 50,000 40,000 10,000
2 ot=AlE &4 50,000 40,000 10,000




A R =y
M OtMotL HAE E2Ed =4
el e EEtE ot 24 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
401 A& HIZ 201 I 50,000 40,000 10,000
01 A& HI 50,000 40,000 10,000
O ot==4 200,000& »250m’ 50,000
HE2IZH (A&) 89,964 89,964 0
Jl2dd (A &) 89,964 89,964 0
Jledyl (A 4) 89,964 89,964 0
201 L2l 20,964 20,964 0
01 At 2t 2l 19,764 19,764 0
O BA2Y JIZ2+EHl 40,0003 *27H x12& 12,960
O 2A JI2Y2 48 Ay
7,000 27 H «34x 128 6,804
02 =24l 1,200 1,200 0
O &A&D1D018 Edl=2l 100,000& = 12CH 1,200
202 O4dl 64,800 64,800 0
01 = LH o4 1 64,800 64,800 0
OJl2g! =& EHNHI
20,0003 x27H «103| x12& 64,800
203 R =&t 4,200 4,200 0
04 REN2EHRZ=TH 4,200 4,200 0
O BA2E ZRFAH| 350,000& x12& 4,200
NRes(A41) 100,000 0 100,000
WEAHAXE (A1) 100,000 0 100,000
HEHeH X = 100,000 0 100,000
701 JIEtSI HSEES 100,000 0 100,000
01 JIEteI HE == 100,000 0 100,000
O ZTAHEANE SEIH HES
100,000, 000& 100,000




